Paper-Maker Harish Kumar

Directions (1-5): U& leg 3 TEAT saavyT AT Y I« ersal 3 wEamsit f v
gAY URFd & STl §, A 9F IS W A v AR w1 eaor i g
37¢ sgafeyd Xt ¢ Amfaf@a gaqe 3R geaedawyr #1 v gEnor

ge4c: that 16 29 curfew 47 mango 58 social distancing 91 32 Home 67 51 Arrange
virus

YIOT I: 15 that 29 curfew 47 mango 58 social distancing 91 32 Home 67 51 virus Arrange
YIOT11:15 92 that 29 47 mango 58 social distancing 32 Home 67 51 virus curfew Arrange
YIOTII1: 15 92 30 that 47 mango 58 social 32 Home 67 51 virus distancing curfew Arrange
YIOTIV: 1592 30 68 that 47 mango 58 social 32 51 virus Home distancing curfew Arrange
YIOTV: 1592 30 68 31 that 47 58 social 51 virus mango Home distancing curfew Arrange
YIOTVI: 1592 30 68 31 57 that 47 51 virus social mango Home distancing curfew Arrange
YIOTVII: 1592 30 68 31 57 48 51 virus that social mango Home distancing curfew Arrange

TIOT VIII: 1592 30 68 31 57 48 52 virus that social mango Home distancing curfew
Arrange

3R = or Vi 3uded sgaedr & difaw =awor g
39dFd U v Ol F IegERor FA av At & e, R are gaqe ¥ v
famafaf@a v e # sugFa @or AT Hifed |

§e19<: Force 52 make 26 68 37 economic stay citizen 18 75 task

QL. FAFfaf@d & @ @l a1 =RoT JifdH @ gEvr 872
(a)Vv

(b)yvll

(cyvlIl

(d)VI

(e) 357 & IS T

L1Difficulty 2

QTags Input-Output

Q2. Arfaf@a & @ Hia-4r 3ifad cgawar grir

(a) 17 76 67 25 38 51 task stay make force economic citizen
(b) 17 76 25 67 5138 task stay make force economic citizen
(c) 17 76 25 67 38 51 task stay force make economic citizen
(d) 17 25 67 76 38 51 task stay make force economic citizen



(e) SIH & HIg AT
L1Difficulty 2
QTags Input-Output

Q3. W1 VH, =ifof@a & & +i9-ar ¢eg 910 & TRIX dcd & QT & B TIH W
grem

(a) Make

(b) Stay

(c) force

(d) task

() SIH & g oAar
L1Difficulty 2
QTags Input-Output

Q4. TROT 11 H, Re=ifaf@d & & Fl9-°1 dcg ¥ & 7d TAT W gHEM?
(a) Make

(b) Task

(c) Force

(d) 68

(€) 37 | IS Tl

L1Difficulty 2

QTags Input-Output

Q5. JIeHaEdT & TROT IV H, Teh AT 9ok & IfE ‘76, economic & FFefed & 3R
’67,make#éﬁfﬁa%’,ﬁsﬁwﬁa&wwmg’cﬁmﬁﬁaﬁﬂm
s 52 O TS grem?

(a) stay
(b) task
(c) make
(d) Force

(e) 3TH & g T
L1Difficulty 2
QTags Input-Output

Solution(1-5):

From the given input and final step it is understood that words are arranged in the
alphabetical order. Numbers are arranged alternately in the increasing order and
alternatively in decreasing order i.e. least number followed by highest number, second
least number followed by second highest number and so on. Also, one operation is



performed with each number while it is arranged (i.e. 1 is subtracted from each even
number and 1 is added to each odd number)

Input: Force 52 make 26 68 37 economic stay citizen 18 75 task
Step I: 17 force 52 make 26 68 37 economic stay 76 task citizen
Step 11:17 76 force 52 make 26 68 37 stay task economic citizen
Step I1I:17 76 25 52 make 68 37 stay task force economic citizen
Step IV:17 76 25 67 52 37 stay task make force economic citizen
Step V:17 76 25 67 38 52 task stay make force economic citizen
Step VI:17 76 25 67 38 51 task stay make force economic citizen

S1.Ans(a)
S2.Ans(e)
S3.Ans(a)
S4.Ans(d)
S5.Ans(b)

Directions (6-10): & 7§ JIHFN : eAAIEH 9 3R AT e 7w weat & 31
afre-

UF T AaEdT A FY Fq FEABT A v sAYe UiFT & A § A a§ IT&F
WO # 0F AR fATa FT FFE0r FI@ §U 3¢ Faedd Fhl §l FEfa@d
$I9e AR YaAcdawyT FT TH 3EERT &

§e49c: 43 30 42 38 54 7896

YIOT1: 172 120 168 152 216 312384
TIOTI:14 0 48 10 12 6 96
YIOTII:7 0 24 5 6 3 48

YIOTIV:48 24 76 530

TOT IV 3UYeFT cqae AT & e =ToT g

3udFd U T ROl 7 rgERer fRd v et & 3R, e v seqe & faw
fArafaf@d gds uea # 3ugesd =T A Ao |

37{3?: 54 31 23 64 47 17 81




Q6. AFITIRAT A @ HIA-TT dcd WOT [VH ST B & UEd dcd & &0 T Y

T W &7

(a) 4

(b) 32

()6

(d)9

(€) 37 | IS Tl
L1Difficulty 2

QTags Input-Output

Q7.TXOT I H §10 & I T&am 3R oXoT VA gre ¥ il gear & #eg fohder
3R §?

(@) 2

(b) 4

(©)5

(d) 3

()38 & IS gl

L1Difficulty 2

QTags Input-Output

Q8. TXUT 11 H a10 § Aeft &ar & 37epr FT A9 hdar g7
(a)9

(b) 10

()6

(d)7

(e)8

L1Difficulty 2

QTags Input-Output

Q9. F=ifaf@a & O Fia-dr d&ar woT 1 F g0 F IR TAT ) &7
(a) 60

(b) 64

(c) 48

(d)8

(e) 37 @ HIg Fgr

L1Difficulty 2



QTags Input-Output

Q10. TfE TRUT 1T HIH BIET TEAT I TOT [ Fad F51 HEIT § [0 FhAT ST

g ar aRoma Fa fifae?
(a) 256

(b) 145

(c) 324

(d) 78

(€) 37 | IS Tl
L1Difficulty 2
QTags Input-Output

Solutions (6-9):

Sol. In this input output question only numbers is arranged in each step. Let us understand
the logic behind it- In each step the numbers are arranged

Step 1: All the number(input) multiply by 4.

Step 2: Multiply all digit in each number.

Step 3: All the numbers divided by 2.

Step 4: All number are arranged in descending order.

Input: 54 31 23 64 47 17 81
Stepl: 216 124 92 256 188 68 324
StepIl: 12 8 18 60 64 48 24
Steplll: 6 4 9 30 32 24 12
StepIV: 32 30 24 12 9 6 4

S6.Ans(c)
S7.Ans(d)
S8.Ans(c)
S9.Ans(b)
S$10.Ans(a)

Directions (11-15): T& e 3 F&AT cgavyr AMaT # I ereal 3R et
UF FAYC GfFa & AT B, @ 9% TAS Wor H ve fafRaa s w1 e s
gU 3v¢ cHafyd Hdl g1 FIfaf@d geqe 3R qocdawyr #1 U 3EER &



gd49c: 56 two fear 27 74 15 Markets 33 normal Hindi

YT [: Markets 56 two fear 27 74 15 normal Hindi 9

YIOT [I: Markets normal 56 two fear 27 15 Hindi 9 16

YIOT [1I: Markets normal Hindi 56 two fear 27 9 16 25

YIOT [V: Markets normal Hindi fear two 27 9 16 25 36

YIOT V: Markets normal Hindi fear two 9 16 25 36 49

TROT V39 qaedT & 3fAe wRoT ¢

3UFd AU T TROTW 7 IHTEoT 7R T FIAT F 3R, B v shae & v
fAmfaf@d gcde geat & 3uged o1 A |

§e79<: 18 Roads Act upon 11 24 to modern 42 9

Q11.fT 91T gaAge & =oT IV fAFATAT@T & @ hleT ar 2
(a) modern Roads upon 18 Actto 914 16

(b) modern Roads upon Actto 914 16 64

(c) modern Roads upon Actto 14 16 64 81

(d) modern Roads upon Act9to 14 16 64
(e) 3TH & IS Al

L1Difficulty 2

QTags Input-Output

Q12.TROT [VH &0 ©R & 5 al dcd SidA-aT g7
(@)1

(b) 4

(c) Act

(d) to

(e) 37 & IS =eT

L1Difficulty 2

QTags Input-Output

Q13.feT 71T gage A ARG & & A T g@T =0T HlA-a1 §72
(a) II

(b) III

(c) 1

(dV

(e) IV

L1Difficulty 2



QTags Input-Output

Q14.TROT [IH 91T BR & R ded 3 W1 VA g7 R & gaX dcd & ALY R

EIGEETI L

(a) 40

(b) 46

(c) 42

(d) 44

(e) 63

L1Difficulty 2
QTags Input-Output

Q15.TROT IVH IS Roads, 9 & TEfT g 3R Act, 4 & Tafdd g, d 47 AT Ha
ﬁmodernmmﬁg?

(a) upon

(b) 9

(c) Act

(d) to

(e)ar @ (a) 3T (d)
L1Difficulty 2
QTags Input-Output

Solution(11-15):

logic-

All the words are arranged according to the number of letters present in the word as the
word having highest number of letters is arranged first then the word having second
highest number of letters is arranged and so on from the left end. While the numbers are
arranged in ascending order of the last digit of the number from right end also each of them
is replaced by the square of the last digit of that number.

Input: 18 Roads Act upon 11 24 to modern 42 9

Step I: modern 18 Roads Act upon 24 to 429 1

Step II: modern Roads 18 Act upon 24to 91 4

Step I1I: modern Roads upon 18 Actto 914 16

Step IV: modern Roads upon Actto 9 14 16 64
Step V: modern Roads upon Actto 14 16 64 81

S11. Ans. (b)
S12. Ans. (e)
S13. Ans. (e)
S14. Ans. (b)



S15. Ans. (d)



